2012—2013 S£4F B F 5 B B R
& =2 B XA

X4t 120 o4 KAL# 2~ 150 o

—. P (RKBE3L 12 /M8, FES 5, 3604, EEENEGHBINAMETF, R
F—ORRFEEEERKD.

LN, E2z=sin2+icos2 XM SAT ¢ )

AFE—ZR BHFE %M CHE=ZR D.FENURR

za+%mﬂw@ﬁﬁ¢m%zmm§ﬁﬁ< )

A5 B > C. > D. >
2 4 8
BN 4 T A 2 4Gkt B A MR 2, F94E 3 AT A 9 AT L, I
FIRGEIEIEH () .
A3 B30 C.25 D.10

4 HEZWEQL2)Z=4+30Waz= ( )

A 2—i B.2+i C.1-2i D.1+2i
5. FHIRSFIEHEIEMMZE C D

A (log, x)' = ha B. (%)’ = 2xe***
X

1 1 .
C.(—=)=—-=— D.(co2k+1) =-2sindx+1)

Jx 23/x?
eﬂﬁ@%ﬁ%&ﬁ%ﬁ%ﬁﬂh&+%+m+yl1>gmzznemv”mﬁﬁ¢,

B “n=k” &% “n=k+1” &, LAy C O W
Al Bk cC.2¢t D2

TR GESLIFMS AT E, KA 3 MR A &M 2 MARBEL 5.
HEOR R LR i), H 2 AN S A REEESARI, AN F] A3 5o 4
N

A18 B.36 C.54 D.72

8.04CL=aC,=blC,= C )
A a+b B.-a+b C.2a-b D.-a+2b

B () $EAE H4TFELR



0. (VX +%)“a@%%ﬁq:ﬁzzﬁim, AT (O
X

A8 B9 C.10 D.12
10. (X* +x—2)° MBI Rrp P B R EC D

A -120 B.-40 C.40 D.120
11 EAEREAR08 R B AR =MIE T, S8 =B R mBUE ORI, 15 1is S LE HERE
M55, BRI R ERkh, KNSR =R AR s MmN ¢ )

A.ﬁm B.%W C.£R3 D.%RS
9 9 27 27

12. DA EREf(X) = x° +bx® +cx+d(b,c,d e R) 76 X 1] [01] b W WA A, T A

(b, c) FrfE XM N ¢ )

A B2 ¢ b
4 4 2

F%  CGEEHEE W 00
= B AR AME, BAMES S, 3500 4 GRS TR TEAER G E

13. J? cos 2xdx =

14@@y=2}m$ﬁ@ﬁg@%

15, BUA S HARM TAHMF. £ A 3ATRENKAE, fFAED—T0, HFREKNTH
A 24, ARRACTTRA i

16. % (x> +1)(x-2)° =a, +a, (X -1 +a,(x —1)° +---+a,,(x =",

(a, +3a, +---+11a,)* — (2a, + 4a, +---+10a,)* = Gl B 1E2)

B () ARG H4TFE2RW



=, BB AKEIL 6 /MNE, $£704, BENMEHICFURH, IEAIEREESE.
17. (R@EHES 10 )

DAL y = x® —3x.
(1) R S AL—=2) kbt i Fe

(2) Kid ri B(2,2) HI I Ze T2 7 5.

18. (AW 125
(1) FHBEEANEEER: n®+5n(ne N*) fe# 6 #5;

@)&aﬁiﬁ,fayﬂ8+w+amm:Uaﬂsﬁa»¢§¢ﬁ~4mm%%.

19.  (FREWH 125
Eﬁ%wﬁﬂhﬁmﬁﬁﬁlﬁ%%@+£%f@ﬁﬁ*%:ﬁ

(1) Fn A x FR5001 {a, | i,

(2) FHF{a, BTN AN S, IFE L Y CXS,. (HEEAIN Al X £or)

k=1

20. (KW 1243
EWE IR =M, BREATE RS MG — e e B A AL, EETL
ITWR: 11
1 2 1
1 3 3 1
1 4 6 4 1
1 5 1010 5 1

=St A2 A BN R, 1R
(1) N 3ATRHL04T, B—ATHE 4 DNEIAT;
(2) AT IR =4, EAIEER L 2: 345 R X =14

B () EAE H4TEIR



21, CREWL 1243
SR f(x)=x%e" (k<0),

(1) sKReg f(X) B URIX A

(2) FHXTAEER X, X, € [-21],
.

F(x) = f(%,)] < 4e?(k+2) Fpkar, KK i

22.  (CRE# 1253
cxia >0, k% f(X) =In(x+1) —ax(x > 0).

(1) DB RREL T (X) e

(2) Hx >0, f(x)<O0fEm, KaMHEEHE:

(3) RilE: HERMINe N,

k=1

k
5 1—In(n +1) > -1.

B () EAE H4TFE4R



